
PO

A

PO

M PPM

H
H

D N

FE

KK

L

L

O P

O P

Reverse Stage

2,1

Please visit: 

www.evotech-performance.com

to view our full product range

1312 14 15

1 2 3

8 9 10 11

54 6 7

Installation Instructions

KAWASAKI Z800 2013

TAIL TIDY

Product Reference - 10857

Kit Contents

1 x Main Tail Tidy A

1 x Tail Tidy PlateB

1 x Reflector BracketC

1 x LED Light UnitD

1 x M4 NutE

1 x M4 WasherF

1 x ReflectorG

2 x Threaded Spacer H

2 x Plastic NutsJ

2 x Spade ConnectorsK

2 x M6 NutsL

2 x M6 x 25 Black ScrewsM

2 x Cable TiesN

4 x M6 x 16 Black ScrewsO

6 x Black M6 WashersP

2 x Plastic Screws I


